Einfache Additionsaufgaben/Umkehraufgaben VS Grins/VS Tobadill/VS Mitterberg

[bookmark: _GoBack]Name: ____________________________
	[image: Der Stift das vielleicht Älteste Werkzeug der Welt. – Knowblogs.net]5 + 1 = ___
5 + 2 = ___
5 + 3 = ___
5 + 4 = ___
5 + 5 = ___
5 + 0 = ___
	4 + 5 = ___
1 + 5 = ___
3 + 5 = ___
0 + 5 = ___
5 + 5 = ___
2 + 5 = ___



	[image: Der Stift das vielleicht Älteste Werkzeug der Welt. – Knowblogs.net]9 + 1 = ___
8 + 1 = ___
7 + 1 = ___
6 + 1 = ___
5 + 1 = ___
4 + 1 = ___
3 + 1 = ___
2 + 1 = ___
1 + 1 = ___
	1 + 5 = ___
1 + 4 = ___
1 + 3 = ___
1 + 2 = ___
1 + 1 = ___
1 + 9 = ___
1 + 8 = ___
1 + 7 = ___
1 + 6 = ___




image1.png




